Informational Report for the October 19, 2010, Board of Trustees Meeting

Classified Staff Separations

Last Name	First Name	МІ	Site	Position Title	Position #	Division	CLPCCD Date of Hire					
	Resignations											
District Se	rvices											
Davis Stacy M.		District	Human Resources Technician II	1CHR04	Human Resource Services	7/16/2008	10/4/2010					

Informational Report for the October 19, 2010, Board of Trustees Meeting

Short-Term Appointments

				New Emp							Assign	Assign
Last Name	First Name	МІ	Site	to District	Position Title	Range	Step	Salary	Division	Max Hours	Beg. Date	End Date
Chabot Coll	lege											
Barraza	Raquel	C.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	As needed, not to exceed 18/week	7/1/2010	6/30/2011
Powell	Yvette	L.	Chabot	No	Administrative Assistant I	28	1	\$18.71	Social Sciences	As needed, not to exceed 18/week	7/1/2010	6/30/2011
Las Positas	College											
Corral	Eduardo	nmi	Las Positas	Yes	Security Officer	37	1	\$23.36	Campus Safety	As needed, not to exceed 18/week	10/1/2010	6/30/2011
District Ser	vices											
					Human Resources				Human Resource	As needed, not to		
Davis	Stacy	M.	District	No	Technician II	C400	5	\$30.54	Services	exceed 6/week	10/5/2010	11/30/2010

Informational Report for the October 19, 2010, Board of Trustees Meeting

Part-Time (Adjunct) Faculty Appointments

				New			
				Employee to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Chabot College							
Barrera	Ramiro	nmi	Chabot	No	Adjunct	Music	Summer 2010
Barrera	Ramiro	nmi	Chabot	No	Adjunct	Music	2010-2011 Academic Year
Bennett	Mark W. Chabot No Adjunct Fire Service Technology		Fire Service Technology	Summer 2010			
Bennett	Mark	W.	Chabot	No	Adjunct	Fire Service Technology	2010-2011 Academic Year
Braganza	Agnello	F.	Chabot	No	Regular	Biology	2010-2011 Academic Year
Carlson	Karen	nmi	Chabot	No	Adjunct	Health / Dental Hygiene	2010-2011 Academic Year
Casini	David	V.	Chabot	No	Adjunct	Electronic Systems Technology	2010-2011 Academic Year
Cormier	Vanessa	nmi	Chabot	No	Adjunct	Early Childhood Development	Fall 2010
Deering	Jennifer	nmi	Chabot	Yes	Adjunct	Physical Education	2010-2011 Academic Year
Delgado	Ricardo	A.	Chabot	Yes	Adjunct	Mathematics	2010-2011 Academic Year
Dembrowicz	Kurt	R.	Chabot	No	Adjunct	Electrical Apprenticeship	2010-2011 Academic Year
Dobson	James	L.	Chabot	No	Adjunct	Speech	Summer 2010
На	Hau	T.	Chabot	Yes	Adjunct	Early Childhood Development	2010-2011 Academic Year
Howell	Debra	l.	Chabot	No	Adjunct	Biology	Summer 2010
Howell	Debra	l.	Chabot	No	Adjunct	Biology	2010-2011 Academic Year
Long	Lisa	nmi	Chabot	No	Adjunct	Early Childhood Development	Fall 2010
Matheson	Bryan	K.	Chabot	Yes	Adjunct	Music Recording Technology	2010-2011 Academic Year
Mumford	Jay	K.	Chabot	No	Regular	Real Estate	Summer 2010
Passer	Joyce	nmi	Chabot	Yes	Adjunct	Nursing	2010-2011 Academic Year
Rawdon	Kenneth	D.	Chabot	No	Adjunct	Music	2010-2011 Academic Year
Sanchez	Jose	G.	Chabot	No	Adjunct	Automotive Technology	2010-2011 Academic Year
Sanchez	Steve	nmi	Chabot	Yes	Adjunct	Music	2010-2011 Academic Year
Sanfilippo	Helena	nmi	Chabot	No	Adjunct	History	Summer 2010
Sanfilippo	Helena	nmi	Chabot	No	Adjunct	History	2010-2011 Academic Year
Sullivan	David	K.	Chabot	No	Adjunct	English	2010-2011 Academic Year
Treanor	Eric	D.	Chabot	No	Adjunct	English	2010-2011 Academic Year

Informational Report for the October 19, 2010, Board of Trustees Meeting

Part-Time (Adjunct) Faculty Appointments

				New Employee to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Las Positas							
Costantino	Marc	nmi	Las Positas	No	Adjunct	Physics	2010-2011 Academic Year
Farris	Ward	E.	Las Positas	No	Coach	Athletics	2010-2011 Academic Year
Fraser	Michael	J.	Las Positas	No	Adjunct	Administration of Justice	Summer 2010
Fraser	Michael	J.	Las Positas	No	Adjunct	Administration of Justice	2010-2011 Academic Year
Jones	Gregory	nmi	Las Positas	No	Adjunct	Radiation Safety	2010-2011 Academic Year
Linhart	James	W.	Las Positas	No	Adjunct	Fire Service Technology	2010-2011 Academic Year
McQuiston	Michael	A.	Las Positas	No	Adjunct	Administration of Justice	2010-2011 Academic Year
Stinn	Todd	V.	Las Positas	No	Adjunct	Welding	2010-2011 Academic Year
Torres	John	K.	Las Positas	No	Adjunct	Fire Service Technology	2010-2011 Academic Year

Informational Report for the October 19, 2010, Board of Trustees Meeting

				New Emp			Pay		Max.	Maximum	Assign	
Last Name	First Name	MI	Site	to District	Duties	Department	Type	Pay Rate	Hours	Amount	Beg. Date	End Date
Chabot Col	lege			anna makadésa adésa di t		and and	**************************************				and the second s	
Amayo- Hassan	Linda	M.	Chabot	No	Provide costume design services for the theater arts performances		Flat Rate	\$3,000.00	NA	\$3,000.00	9/22/2010	6/30/2011
Bidgoli	Mahboube	G.	Chabot	No	Language and speech consultant to comply with Child, Family, and Community Services grant requirements	Children's Center	Hourly	\$45.00	500	\$22,500.00	7/1/2010	6/30/2011
Groppetti	Eugene	P.	Chabot	No	Provide expertise for accreditation group	President's Office	Hourly	\$100.00	21.5		7/19/2010	8/2/2010
Hassan	Dov	A.	Chabot	No	Provide lighting services for theater arts performances	Arts and Humanities	Flat Rate	\$1,000.00	NA	\$1,000.00	9/22/2010	6/30/2011
Chabot Col	। lege Comm।	⊥ µnity	Education		100 to 10	The same of the sa					and the state of t	
Arnaiz	Jennifer	M.	Chabot	No	to teach computer flash animation classes	Community Education	Hourly	\$25.00	10	\$250.00	10/9/2010	12/31/2010
Bartlett	Luveda	M.	Chabot	No	Community education instructor to teach piano for kids classes	Community Education	Hourly	\$25.00	14	\$350.00	10/2/2010	12/31/2010
Brichacek	Anne	Z.	Chabot	No	Community education instructor to teach computer basics	Community Education	Hourly	\$45.00	20	\$900.00	10/2/2010	12/31/2010
Broida	David	F.	Chabot	No	to teach healthy harmonica classes	Community Education	Per Student	\$10.00	NA	NA	11/9/2010	12/31/2010
Broida	David	F.	Chabot	No	Community education instructor to teach beginning blues	Community Education	Per Student	\$15.60	NA	NA	11/9/2010	12/31/2010
DeGuzman	Rudolfo	S.	Chabot	No	Community education instructor to teach Tae Kwon Do classes	Community Education	Hourly	\$25.00	17	\$425.00	9/7/2010	12/14/2010
DeLeon	Emerlita	A.	Chabot	No	Community education instructor to teach dance classes	Community Education	Hourly	\$35.00	24	\$840.00	10/2/2010	12/31/2010
Faust	Carol	C.	Chabot	No	Community education instructor to teach instant piano classes	Community Education	Per Student	\$20.00	34	\$680.00	9/25/2010	12/31/2010

Informational Report for the October 19, 2010, Board of Trustees Meeting

				New Emp			Pay		Max.	Maximum	APPLICATION OF THE PROPERTY OF	
Last Name	First Name	MI	Site	to District	Duties	Department	Type	Pay Rate	Hours	Amount	Beg. Date	End Date
Hall- Patterson	Kris	nmi	Chabot	No	Community education instructor to teach medical insurance billing certificate classes	Community Education	Per Student	\$110.00	NA	NA	10/24/2010	12/31/2010
Hall- Patterson	Kris	nmi	Chabot	No	Community education instructor to teach worker's compensation and personal injury classes	Community Education	Per Student	\$34.00	NA	NA	10/31/2010	12/31/2010
Hall- Patterson	Kris	nmi	Chabot	No	Community education instructor to teach medical insurance billing service from home classes	Community Education	Per Student	\$26.00	NA	NA	10/30/2010	12/31/2010
Hall- Patterson	Kris	nmi	Chabot	No	Community education instructor to teach computerized medical insurance billing classes	Community Education	Per Student	\$10.00	NA	NA	10/31/2010	12/31/2010
Hall- Patterson	Kris	nmi	Chabot	No	Community education instructor to teach advanced medical insurance billing classes	Community Education	Per Student	\$34.00	NA	NA	10/24/2010	12/31/2010
Hall- Patterson	Kris	nmi	Chabot	No	Community education instructor to teach medical insurance billing classes	Community Education	Per Student	\$42.00	NA	NA	10/24/2010	12/31/2010
Haney	Victoria	Α.	Chabot	No	Community education instructor to teach drama classes	Community Education	Hourly	\$25.00	24	\$600.00	10/9/2010	12/31/2010
Jackson	James	L.	Chabot	No	Community education instructor to teach basketball league Community education instructor	Community Education	Hourly	\$45.00	25	\$1,125.00	7/1/2010	6/30/2011
Jones	Sean	Α.	Chabot	No	to teach digital photography classes	Community Education	Hourly	\$25.00	9	\$225.00	10/16/2010	12/31/2010

Informational Report for the October 19, 2010, Board of Trustees Meeting

				New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	First Name	MI	Site	to District	Duties	Department	Туре	Pay Rate	Hours	Amount	Beg. Date	End Date
Kensinger	Keary	M.	Chabot	No	Community education instructor to teach walking tours classes	Community Education	Hourly	\$45.00	9	\$405.00	10/9/2010	11/30/2010
Miller	Nancy	nmi	Chabot	No	Community education instructor to teach small business classes	Community Education	Per Student	\$15.60	NA	NA	9/20/2010	12/31/2010
Mockel	Dennis	E.	Chabot	No	Community education instructor to teach computer maintenance classes	Community Education	Hourly	\$35.00	8	\$280.00	11/20/2010	12/31/2010
Racine	Warren	E.	Chabot	No	Community education instructor to teach real estate and foreclosures classes	Community Education	Per Student	\$39.50	NA	NA	10/1/2010	12/31/2010
Rene	Helene	nmi	Chabot	No	Community education instructor to teach beauty makeover classes	Community Education	Per Student	\$23.60	NA	NA	10/16/2010	12/31/2010
Romero	Angela	C.	Chabot	No	Community education instructor to teach Language Arts classes	Community Education	Hourly	\$35.00	10	\$350.00	10/2/2010	12/31/2010
Rounds	Michael	F.	Chabot	No	Community education instructor to teach professional speaking classes	Community Education	Per Student	\$15.60	NA	NA	9/20/2010	12/31/2010
Salamanca	llva	L.	Chabot	No	Community education instructor to teach Spanish classes	Community Education	Hourly	\$45.00	15	\$675.00	10/14/2010	12/31/2010
Soriano	Carine	nmi	Chabot		Community education instructor to teach picture matting classes	Community Education	Hourly	\$35.00	9	\$315.00	10/2/2010	12/31/2010
Tarczynski	Gregory	J.	Chabot	1	Community education instructor to teach photography classes	Community Education	Per Student	\$15.60	NA	NA	10/7/2010	12/31/2010

Informational Report for the October 19, 2010, Board of Trustees Meeting

				New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	First Name	MI	Site	to District	Duties	Department	Type	Pay Rate	Hours	Amount	Beg. Date	End Date
Las Positas	College	J				and the state of t						
and a find and a community of Walter Street, and a find a						Business,						
					Create a universal pathways	Computing,						
					format for the Technical	and Applied						0.00.00.4.4
Duncan	Julie	L.	Las Positas	No	Education Collaborative	Technology	Hourly	\$70.00	20	\$1,400.00	9/15/2010	6/30/2011
					Provide supervision for marriage							
		_			family therapist internship	Student		475.00	 . 1	045.075.00	0/00/0040	0.000.004.4
Gioia	Lisa	G.	Las Positas	Yes	program	Services	Hourly	\$75.00	5/week	\$15,375.00	9/20/2010	6/30/2011
					Description to a soul.	Business,						
					Provide training to newly	Computing,		Lagrange				
		_	. B	V	licensed foster parents in	and Applied	Llough	\$75.00	240	\$18,000.00	10/1/2010	6/30/2011
McGuire	Gera	A.	Las Positas	Yes	Alameda County Facilitate pharmacy technician	Technology Health	Hourly	\$15.00	240	ф 16,000.00	10/1/2010	0/30/2011
Nania 4.	I Booklal	R.	Las Positas	Vac	grant funded program	Sciences	Hourly	\$75.00	306	\$22,950.00	10/1/2010	6/30/2011
Mehta	Himatlal	K.	Las Positas	res	Design and desktop publishing	Sciences	Hourty	Ψ73.00	300	Ψ22,830.00	10/1/2010	0/00/2011
					of Spring 2011 schedule of	Student	Flat					
Rothman	Cheryl	A.	Las Positas	No	classes	Services	Rate	\$2,500.00	NA	\$2,500.00	9/1/2010	10/31/2010
Noumman	Cileryi	Α.	Las Fusilas	IVO	Facilitate pharmacy technician	Health	INGLO	Ψ2,000.00	1471	Ψ2,000.00	01112010	1020 1700
Tabuchi	Nancy	L.	Las Positas	Yes	grant funded program	Sciences	Hourly	\$75.00	306	\$22,950.00	10/1/2010	6/30/2011
Lac Pocitac	College Co	nmı	inity Educati	ion		1						
Las i Usitas	Conege Co.		inty Educati		Community education instructor	Community	Per					
Broida	David	F.	Las Positas	No	to teach music classes	Education	Student	\$15.00	ŇΑ	NA	9/1/2010	6/30/2011
Diolad	24714	ļ			Community education instructor	Community	Per	· · · · · · · · · · · · · · · · · · ·				
Dozier	Thomas	Н.	Las Positas	No	to teach parenting classes	Education	Student	\$10.00	NA	NA	9/1/2010	6/30/2011
					Community education instructor	Community						
Hagopian	Brian	J.	Las Positas	No	to teach auto and smog classes	Education	Hourly	\$40.00	200	\$8,000.00	9/1/2010	6/30/2011
Hall-					Community education instructor	Community					A Partie of the	
Patterson	Kris	nmi	Las Positas	No	to teach medical billing classes	Education	Hourly	\$30.00	50	\$1,500.00	9/1/2010	6/30/2011
					Community education instructor	Community					"	
Miller	Nancy	nmi	Las Positas	No	to teach business, career, and	Education	Hourly	\$30.00	50	\$1,500.00	9/1/2010	6/30/2011

Informational Report for the October 19, 2010, Board of Trustees Meeting

Last Name	First Name	MI		New Emp		Department	Pay Type	Pay Rate	Max. Hours	Maximum Amount		W035045546594E94E94
Lastitaino	i not nume	144.0	Oic		Euro							
Moyer	Aida	G.	Las Positas	No	Community education instructor to teach language classes	Community Education	Hourly	\$40.00	200	\$8,000.00	9/1/2010	6/30/2011
,	1 1144	-						·				
Rigge	Lisa	B.	Las Positas	No	Community education instructor to teach dreams and art classes	Community Education	Hourly	\$30.00	50	\$1,500.00	9/1/2010	6/30/2011
Rounds	Michael	F.	Las Positas	No	to teach business, career, and financial classes	Community Education	Hourly	\$30.00	50	\$1,500.00	9/1/2010	6/30/2011
Ruddle	Kathryn	G.	Las Positas		Community education instructor to teach art and sewing classes	Community Education	Hourly	\$40.00	100	\$4,000.00	9/1/2010	6/30/2011
Sapsford	Paul		Las Positas	A STATE OF THE PROPERTY OF THE	Community education instructor to teach soccer clinics	Community Education	Hourly	\$40.00	200		7/1/2010	6/30/2011
Suarez	Catherine	A.	Las Positas	No	Community education instructor to teach language classes	Community Education	Hourly	\$30.00	100	\$3,000.00	9/1/2010	6/30/2011
<u> </u>		- :-			3			-			enderson construction of the construction of t	
District Ser	vices		- P						OF STREET			
					Train and certify staff on the use	Maintenance and						
Fuller	Thomas	P.	District	No	of forklift and equipment	Operations	Hourly	\$75.00	8	\$600.00	9/1/2010	12/31/2010